. VCE & PDF https://www.pass4itsure.com/4a0-n01.html
g 2024 Latest passditsure 4A0-NO1 PDF and VCE dumps Download

PassditSure.com

AA0-NO1O%AS

Nuage Networks Virtualized Cloud Services (VCS) Fundamentals

Pass Nokia 4A0-NO1 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/4a0-n01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nokia
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

4A0-NO1 PDF Dumps | 4A0-NO1 Exam Questions | 4A0-NO1 Braindumps 1/3


https://www.pass4itsure.com/4a0-n01.html
https://www.pass4itsure.com/4a0-n01.html
https://www.pass4itsure.com/4a0-n01.html

VCE & PDF https://www.pass4itsure.com/4a0-n01.htmi
a 2024 Latest passditsure 4A0-NO1 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

What statement regarding the VRS-G is FALSE?

A. The VRS-G is the software VXLAN/VLAN gateway of the Nuage VCS solution.

B. The VRS-G is deployed on a hypervisor, following the same deployment requirements as a regular VRS.

C. Virtual machines created on the hypervisor are attached to access ports on VRS-G.

D. The network ports on VRS-G point towards the Nuage overlay VXLAN network.

Correct Answer: B

This permits the bridging of the hypervisor-focused overlay networking and physical devices in the data center.

Reference: https://jujucharms.com/nuage-vrsg/

QUESTION 2

What statement about stateful ACL entries is FALSE?

A. They can track both TCP and UDP flows.

B. They can be created in either ingress or egress directions.

C. A packet in the direction of the stateful ACL rules will automatically create a “related” rule in the reverse direction.
D. The automatically created rules will not go away until the ACL is manually deactivated and reactivated.

Correct Answer: D

QUESTION 3

What does VSD stand for?

A. Virtualized Services Description

B. Virtualized Services Definition

C. Virtualized Services Domain

D. Virtualized Services Directory
Correct Answer: D

Nuage Virtual Service Directory (VSD)

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html
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QUESTION 4

Which statement about SDN is correct?

A. Network control is fully integrated into the forwarding plane.

B. SDN supports cloud computing by automating virtual machine instantiation.
C. The API interface provides a way to program the SDN switch directly.

D. The SDN controller provides global provisioning of network devices.
Correct Answer: B

Reference: https://searchnetworking.techtarget.com/definition/software-defined-networking-SDN

QUESTION 5

Which of the following is a host-centric overlay solution for a modern data center?
A. SPBM

B. TRILL

C. VXLAN

D. VPLS

Correct Answer: C

Modern data center, traditional technologies are limiting the speed, flexibility, scalability, and manageability of
application deployments. There is emerging interest in the industry in overlay technologies (such as

MPLS, VXLAN, LISP...)

Reference: https://community.cisco.com/t5/data-center-documents/cisco-data-center-overlays-with-focuson-vxlan-slides-
from/ta-p/3159545
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